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O SASTASAL FIIAA +42
2,000,000& *23| 4,000
02 2224 4| 75,363 75,363
O SASXYSIAAE 29| 75,363
— SF0 1,759& 804 *365L 51,363
— KRAE£H| 2,000,000& x12& 24,000
206 M = dl 9,600 9,600
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CEB B (3H) - HRAY - BAS Ol At o %@ﬁ HRE2
01 24l 9,600 9,600
O SAZMY I NIASAE ES WP
800,000 x12& 9,600
EEL HeAdE 29 31,200 31,200
201 LBt 9H| 11,800 11,800
02 2224 H| 11,800 11,800
O &4+ HelAME B4(BHEZ £)
400,000 #2501 13l 10,000
O &&4 HM2lANE gXbl(828 5)
150,000 x12& 1,800
206 M = Hl 19,400 19,400
01 X2 H| 19,400 19,400
O &&= MHelAd 372
1,800,000 x4 %23 14,400
O &&4 MHelAMd A A
2,500,000 «1CH 23] 5,000
BtAYE0ts KL 85,459 85,459
101 124 H| 18,000 18,000
04 JI2ZtHIZ22NEES 18,000 18,000
O &HIS0S AMlls Ao 2 18,000
— ol2iH| 50,000& 321 120 18,000
201 et d| 1,759 1,759
02 32%H| 1,759 1,759
O edIS0s Ud9A*E JA&AE K8 20H
1,759& x1,000¢ 1,759
206 28 5,700 5,700
01 T2l 5,700 5,700
MEHII 2 SEXMH2AY S0 492
2 5,000& %8204 =13l 4,100
O 2008 YHEAE 22 5,000 *3204 *13] 1,600
301 Bt A= 60,000 60,000
11 JIEtE A= 60,000 60,000
O MEHIS Sl sHIs0S A
60,000,000 13| 60,000
WEes ¥ 2F 2 170,427 170,427
SZELMAEANLE 29 170,427 170,427
101 e1214| 75,840 75,840
04 J|12ZtHIZ22NEES 75,840 75,840
O MESELEH HEEE A 75,840
- 30 50,000 6021 %240 72,000
— MHEE 72,000,000 *0.70% 504
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=3k 72,000,000 *1.3% 936
— I =4| 200,000& 621 x23| 2,400
201 LBt | 12,467 0 12,467
02 22244l 12,467 0 12,467
O ME2E(AEZE) HelJIJl SN2
500,000 43| 2,000
O MeEs3 48 X224 5,000,000 14! 5,000
O MeEsEsSHaEH NAHNSE 5,467
— S 34| 1,759 x1502| B x12& 3,167
— =2l 500,000& 33| 1,500
— B8z 800,000& *13] 800
206 M = Hl 27,120 0 27,120
01 X2 4l 27,120 0 27,120
O Mes= PP OILY 6,000 *3,0000H 18,000
O MEsEE 2854 22 1,520,000 *x1E 63! 9,120
405 XHAHF S HI 55,000 0 55,000
01 AL 2 EF S| 55,000 0 55,000
O MEsE Hgs NHX ¢
55,000,000 =1CH 55,000
SAHIIZS H2ANE 849 37,379 0 37,379
SANHIIZE HelAldE &9 37,379 0 37,379
101 e1214| 7,200 0 7,200
04 JI2ZtHIZ22 NEES 7,200 0 7,200
O EAMHIIZ H2AE 24
600,000 =121 x12& 7,200
201 et 30,179 0 30,179
01 AFR 2t 2| bl 3,600 0 3,600
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s) 10,000 305 *12& 3,600
02 E232%H| 26,579 0 26,579
O TAHIIE HelAld 29| 26,579
— M3 700,000& *13| x12& 8,400
o= 1,759 %7004 ~12& 14,776
— MNEER3 560& x0.5m *365 103
— & AE= 150,000& x13] x12& 1,800
— A& KX 22l 1,500,000 14! 1,500
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401 AIEHI L 2] 100,000 250,900 A 150,900
01 A& HI 100,000 250,000 A 150,000
O diclEE=xE =8 AMd 100,000, 000& 100,000
=8 F=Ei ¢ 108,745 140, 351 A 31,606
FEXHS 2 2el 56,272 90,981 A 34,709
101 @124l 44,000 44,000 0
04 JI2ZtHZ22HEE =+ 44,000 44,000 0
O EY =X HE ogdXitel o2
200,000 &= 440! = 5& 44,000
201 et 12,272 16,981 A4,709
02 2324l 12,272 16,981 24,709
O FEXES ¥ IERA2e 8,672
— XS XAl 600,000& = 1CH 600
- NsiHEE= 850,000 = 1CH 850
- s hssU 1,759& %2004 128 4,222
— XrgE==cl 3,000,000& = 1CH 3,000
O FI3XEE FSUHE 23 100,000& =128 1,200
O =81 s RER= 300& +8,0000H 2,400
FEXHS A S 52,473 49,370 3,103
101 @124l 44,243 36,540 7,703
04 D12t 22 HEE = 44,243 36,540 7,703
O HEAE FHIES R 43,843
- =0 50,000 201232 «12& 27,600
— &0z 50,0003 20! +232 *200% 4,600
- Fr=¢ 50,000& 20! x52== 5,200
PN RS 50,0003 #2021 +20 13 2,000
— ANz2e=% 9,375& *221 x 15A1 2tx 12 3,375
404 B2 1,068,000 1,068
O 28X 453 I/ =4l 200,000 22! 400
201 24l 7,180 11,780 A 4,600
01 At 22l 7,180 11,780 24,600
O =3XUEHE DXNAH &8 Z2H 223
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O gxxeg & =dEx:8x Hd2=
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O 2=3AL WEZA AdUZ 100,0003 x2 200
301 et d = 1,050 1,050 0
09 HALAHIE& S 1,050 1,050 0
O 2%z DEIN U39 AL
7,000 «50Q1 32 1,050
WEAMES ZH 694,300 707,220 A 12,920
MSSHOI 2el & X=nHA 182,100 174,970 7,130
201 £B-2dH| 129,600 119,670 9,930
01 At 22l 6,000 4,470 1,530
O NSAE MI|dd ELAA AEIHZS 6,000
— wWsSHsS 50,0003 *600H 2~ 3,000
- 388 15,0003 12100 2 1,815
- 3&S 15,000 #7904 & 1,185
02 324l 123,600 115,200 8,400
O dzI B 2 =2/l 600,000 *80H 2 48,000
O Bsdss &I M88
28,0003 2250 x12& 75,600
401 A& HIZ 201 I 52,500 55,300 A2,800
01 A& HI 52,500 55,300 A 2,800
O 3EsS ¥ E#S &4 12,500,000 *30H & 37,500
OXSI =8s E=2A 500,000 304 & 15,000
HEMMBTAIE £X € KA 70,200 222,000 A 151,800
201 Let249] 46,200 42,000 4,200
02 =24l 46,200 42,000 4,200
O =23ttt (cctv) RX2albl
100, 0003 224 A 122 26,400
O 20oI3ttiet(cety) EIIMNEE
20,0003 *2204 2 =128 5,280
O 29o3ttlet(cety) AHY sz
55,0003 *2204 A =128 14,520
401 AIEHIZL 20 24,000 180,000 A 156,000
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O sHEHA EXE X122
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401 Al HI L £ 0HHI 16,200 0 16,200
01 Al& H| 16,200 0 16,200
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WEAEE A2 406,300 269,500 136,800
201 gEt24Hy| 30,000 50,000 A 20,000
02 2=2=24%94| 30,000 50,000 A 20,000
O WEHEAEZ A &2l 30,000,000 =14] 30,000
401 Al HI L 2 0HHI 376,300 219,500 156,800
01 Al & H| 376,300 219,500 156,800
O BBE & (2$H) 12,500, 000 1904 £ 237,500
O d8g 3&2sS A 1,900,000 *7 1 A~ 13,300
O Zd2s Ex=uH 13,500, 000*8H & 108,000
O 32 WA 2,500,000%7H 2~ 17,500
2+9Hd A& 3,203,354 2,503,618 699,736
& 383,798
= 2,819,556
SHEHA sA2A Y WEXNKZ2(EH]) 1,752,554 1,475,282 277,272
& 383,798
= 1,368,756
301 et A= 1,752,554 1,475,282 277,272
& 383,798
= 1,368,756
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101 124 H] 30,800 28,336 2,464
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Asx S522 74,260 67,910 6,350
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O Xsx2dE BEeE DOXM oI
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00& *12,000H x12& 43,200
303 ZAZ2 2,900 2,900 0
01 Za32 2,900 2,900 0
O XNSiHHE AFAN 2450 AlMS
2,900,000 14l 2,900
FOI& 2el 9,900 10,860 A 960
201 et 8,400 8,400 0
02 2324 8,400 8,400 0
O g8 s CCTVs Al 22l
50,000% 1000 A+ 1200 & 6,000
O 29 FINE MRPA NMIIAMEE
200,000 =120 & 2,400
206 M = dl 1,500 1,500 0
01 X2 H| 1,500 1,500 0
O ZYFIE BUBHESA P
12,500& 25 +13| x60H 1,500
HESHAY (#FFNEY) 112,200 96,600 15,600
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Jl2dd(sZunsn) 105,000 91,800 13,200
Jl2du(s#ZdusE) 28,200 25,200 3,000
201 ¢er24] 24,000 21,000 3,000
01 At 2t 2l 24,000 21,000 3,000
O BEM2EH(5H) 24,000, 000& 24,000
203 YR =2l 4,200 4,200 0
04 EASIYRFLH 4,200 4,200 0
O RNSYYRETH (ZR2291)
350,000& »12& 4,200
gy (sdael) 14,760 14,760 0
201 Lt 4,200 4,200 0
01 At 22l 4,200 4,200 0
O gZaelgy dRFUSH 4,200,000 4,200
202 44l 10,560 10,560 0
01 S LHOIYI 10,560 10,560 0
O JI& 2l 10,560, 000& 10,560
Jl=2Zdl (& 018t) 12,360 13,680 A 1,320
201 £B-2%H| 4,200 5,040 A 840
01 At 22l 4,200 5,040 A 840
O &30Isted dRFAS&H 4,200,000 4,200
202 o4dl 8,160 8,640 A 480
01 = LH o4 1l 8,160 8,640 A 480
O JIg 2HHYI 5,280,000 5,280
O 2d&& Jl2 =aUdAl 2,880,000& 2,880
Jl2du(8#&E %) 7,800 7,800 0
201 ¢4l 2,520 2,520 0
01 At 22l 2,520 2,520 0
O 8ZXNEEY gRFUSEH 2,520,000 2,520
202 044l 5,280 5,280 0
01 = LH o4 4l 5,280 5,280 0
O JIg eI 5,280,000 5,280
2 (nsds) 14,760 15,600 A 840
201 Let24d] 4,200 5,040 A 840
01 At 2teltl 4,200 5,040 A 840
O nsd3Egd dRFAS 0 4,200,000 4,200
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202 o4dl 10,560 10,560 0
01 = LH o4 1l 10,560 10,560 0
O Jle 2WdAl 10,560,000 10,560
JI2H(MHEHEE) 14,760 14,760 0
201 Let2d] 4,200 4,200 0
01 At 22l 4,200 4,200 0
O XNeEsEEE dRFA=&H 4,200,000 4,200
202 O4dl 10,560 10,560 0
01 = LH 4 di 10,560 10,560 0
O Jle 2UWdAbl 10,560, 000& 10,560
gyl (sg Al g2e) 12,360 0 12,360
201 Let24E] 4,200 0 4,200
01 At 2t 2l 4,200 0 4,200
O gZALd2elgd GRFE =l
4,200,000 4,200
202 O4dl 8,160 0 8,160
01 = LH 4 Hi 8,160 0 8,160
O Jle 2UWdbl 5,280,000 5,280
O 283 Jl2 =aUdAbl 2,880,000 2,880
S. ¢ #HY2IZH(2#ZnE) 31,000 28,520 2,480
S .0 ERIY|(2#ZnE1) 31,000 28,520 2,480
.0 oHRIY(B#ZnE) 31,000 28,520 2,480
101 @124l 31,000 28,520 2,480
04 JI12ZtHZ22HEE =+ 31,000 28,520 2,480
O NALMRIAX XgI =HeR2
50,000 *8IH A 201 %20 16,000
O s IFsza 2oy
50,000& *221x150 15,000




